Economics: The Basics, 2e

Study Guide: Chapter 18

Learning Objectives

LO18-1 Apply the life cycle theory of retirement and identify the main sources of retirement funds.

LO18-2 Explain the difference between defined benefit and defined contribution retirement plans.

LO18-3 Summarize the demographic challenge facing Social Security and describe the possible solutions.

LO18-4 Describe the healthcare life cycle and the role of health insurance.

LO18-5 Discuss reasons why healthcare spending is rising so quickly.

Outline

· Retirement
· Life cycle model: While young, people borrow money for education and other investments; during the middle part of their life, people accumulate savings as their income increases; and people spend down their net worth during retirement, when they no longer earn income from employment.

· Two problems with this: retirement poverty (poor people cannot save enough during their lifetime for retirement) and the retirement uncertainty problem (not knowing how long they will live).

· A Defined Benefit Plan provides retirees a pre-determined amount of money monthly.

· It provides the security of having monthly payments until death, but runs the risk of the business going bankrupt.

· A Defined Contribution Plan provides retirees payments based on the performance of the retirement investment (i.e., 401(k) or Individual Retirement Account).

· It puts the responsibility of investment decisions onto the retiree, but runs the risk of the retiree outliving their savings.

· Social Security transfers income from current workers to current retirees.

· The Social Security Administration (SSA) uses a formula to determine your monthly benefits (based on how much you made in your lifetime). The formula is progressive and provides more to low-income people and less to high-income people.

· The SSA also uses a formula to determine how much payroll tax you and your employer must pay to fund Social Security. There is a wage cap of $97,500 on the tax.

· There is no link between the taxes you pay and what you will receive.

· Demographic challenge facing Social Security: given an increasing old-age dependency ratio (fewer working-age people supporting more retirees), there is concern that there will be a shortfall in Social Security. It is projected that around 2015, or so, retirement payments will exceed payroll tax revenue.

· Solutions include decreasing benefits, raising the payroll tax, funding Social Security from general revenues, and privatization.
· Healthcare
· Life cycle model: The young and middle aged would likely pay for ordinary healthcare out of their pocket and buy catastrophic health insurance. They would then be expected to pay for their old-age healthcare out of their own pocket, necessitating a large amount of savings prior to retirement.

· Two problems with the model include: 

· Healthcare poverty (arising from the poor not able to afford to pay for health insurance).

· Healthcare uncertainty problem (arises from people not knowing how much they’ll need to pay for healthcare in old age).

· Employer health insurance is an insurance policy set up by the employer through an insurance company; there is usually a co-payment for each doctor visit, which helps fund the program.

· Medicare covers the healthcare costs of older citizens. 

· Medicaid covers the healthcare costs of lower-income families, their caretakers, and individuals with disabilities.
· Why health care costs are rising so quickly:

· Demographic change: an aging population needs more health care.
· Rising incomes: a richer population is willing to pay for more health care.
· Third-party payments: doctors and patients make spending decisions but most of the payments come from insurance companies or the government. The spenders have an incentive to spend more money since they are not the ones paying for it.
· Tax deductions for employer health care: workers are not taxed on company-funded health care spending so there is an incentive to spend more.
· Rapid technological progress: New healthcare technologies are expensive.
· Bad Medicine: Some healthcare practices don’t work.
Common Myths & Common Problems

· Under Social Security, doesn’t the government save my payroll tax for me and pay that out when I retire?

· No. Your payroll tax goes from your pocket to a current retiree’s pocket. That’s it. There is no lockbox with your name on it and there are no investments made on your behalf. When you retire, your payments will be taken from those who are working and paying payroll taxes.
· My friend said Social Security is a Ponzi (pyramid) Scheme. What does that mean? Is he right?

· A Ponzi Scheme is a fraudulent way of promising a high rate of return on an “investment” that is actually paid for by having more people invest into the scheme. The way it works: you give me $100 and I promise to pay you $200 tomorrow. I then sell that plan to many more people and use that money to pay off the people who gave me money yesterday. As long as I keep selling the “investment” to more people than those I have to pay off, the scheme works.

· Is Social Security a Ponzi Scheme? Technically, no. Social Security is not meant to be fraudulent (though not many Americans really understand how it works). However, Social Security is predicated upon the notion that the work force paying payroll taxes will be larger than the current retirees. This is why the old-age dependency ratio is important; it tells us the ratio of current workers paying into the system and the number of retirees collecting payments. As your textbook notes, that ratio is increasing, meaning there will be fewer workers supporting each retiree. This is why economists expect a shortfall between payroll taxes and Social Security payments.

Real World Applications from an Economist’s Perspective

When we run into a salesperson, we are skeptical of their sales pitch. Most of us think that they are just trying to make a buck at our expense. Sometimes, people take that mentality with them into discussions with financial planners who tell them, “Don’t rely on Social Security and don’t expect it to be there for you.”

Many people recoil in confusion and disgust. They figure that the financial planner is merely selling them a product, and that our governmental retirement system has to work; after all, we are America. Unfortunately, demographics have more to say about the solvency of Social Security. With the “Baby Boomers” retiring in the near future, coupled with a lower birth rate, there will be fewer workers supporting an increasingly larger retiree pool. This means, if projections hold up, that there will be a financial gap between payroll taxes (revenue brought in) and benefits paid out. This will create a shortfall where the system will be paying out more than it is bringing in. This is where the concern lies.

If benefits exceed revenues, something will have to be done. It is unlikely that the whole system will completely implode, as hinted by the financial planner, because the government can always arbitrarily change the rules of the game to allow the system to persist longer. The government can reduce Social Security benefits, increase payroll taxes, pay for the benefits out of the general tax revenue, or privatize the system.

With that said, it doesn’t mean that the financial planner was completely wrong. Having a private retirement plan in place is always a good idea, especially given that the terms of your Social Security benefits can always be changed or reduced. 

Now it’s Your Turn
1.  If you currently work, you can visit the Social Security Administration’s website and estimate your retirement benefit at: www.ssa.gov/estimator.

2.  If you are curious how much you will have if you save a particular amount of money for a particular amount of years, visit the savings calculator at: http://www.bloomberg.com/personal-finance/calculators/retirement/. You can also put in a goal amount and figure out how much you need to save per year.

Practice Quiz

1. The retirement poverty problem is:

a. Not knowing how long you will live.

b. Not knowing how much to save.

c. Not being able to save enough for retirement.

d. Not being able to spend enough during retirement.

2. The retirement uncertainty problem is:

a. Not knowing how long you will live.

b. Not knowing how much to save.

c. Not being able to save enough for retirement.

d. Not being able to spend enough during retirement.

3. A defined benefit plan is when:

a. Retirement payments are based on how well you invested.

b. Retirement payments come from government taxes.

c. Retirement payments are pre-determined and paid on a monthly basis.

d. Retirement payments come from the Social Security Administration.

4. A defined contribution plan is when:

a. Retirement payments are based on how well you invested.

b. Retirement payments come from government taxes.

c. Retirement payments are pre-determined and paid on a monthly basis.

d. Retirement payments come from the Social Security Administration.

5. The Social Security financing gap shortfall will be caused by:

a. Payroll taxes exceeding the benefits paid.

b. Payroll taxes equaling the benefits paid.

c. Payroll taxes being less than the benefits paid.

d. None of the above.

6. The old-age dependency ratio is:

a. The ratio of the older population to the working population.

b. The ratio of payroll taxes paid by the elderly.

c. The ratio of the older population to those in nursing homes.

d. The ratio of the working population to the young.

7. The healthcare poverty problem arises from:

a. The increasing cost of obtaining healthcare.

b. The rate healthcare providers declare bankruptcy.

c. The poor not being able to pay for health insurance.

d. The uncertainty of knowing how much to save for healthcare in old age.

8. The healthcare uncertainty problem arises from:

a. The increasing cost of obtaining healthcare.

b. The rate healthcare providers declare bankruptcy.

c. The poor not being able to pay for health insurance.

d. The uncertainty of knowing how much to save for healthcare in old age.

9. Which of the following covers healthcare costs for older citizens?

a. Social Security

b. Medicaid

c. Medicare

d. Life Alert

10. Which is NOT a reason for rising healthcare costs?
a. An aging population
b. Rising incomes
c. Health Savings Accounts
d. Not being taxed on company-funded healthcare spending

Answer Key

1.  C

2.  A

3.  C

4.  A

5.  C

6.  A

7.  C

8.  D

9.  C

10.  C

